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KCPE 2002 MATHEMATICS

6. In the fgure below lines JK and

Which of the following i3 5505055 in words?

A. Five million, fifty five thousand and fifty five

B, Five million, five hundred thousand, five
hundred and fifty five

C. Five million, five hundred and five thousand
and fifty five

D. Five million, five hundred and fifty thoussnd
and fifty five.

The fractions 4, 3, 2 and % are to be arrunged
from:hehrmuio!hemanut.\vmchol'tbe
following is in the correct order? - *
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rectanguiar plol messuring 46 m by 38 m is to be
fenced all round, If three strands of wire are to be
usad wlw would be the 1otal length of wire

A 168
B. 152
C. 504
D. 5244

An empty box weighed 2.5 kg Kombe packed
booksi.nthebmunult.hemwmgbtmgikglf
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What is the length of the diagonal XZ?
A Sem
B &3cm
C. Tono
D. 105cm

LM are parallel.
Line NP is 4 transversal.
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Which of the statemenls below is-NOT always truet
A pgHe=a+d
B e+f=c+d
C. a+e=180°
Dob=y

Peter bought the following items from a shop:
3 rolis of toilet paper (@ sh 17

2 kg of salt @ sh 30 per kg

2 ky packer of rice Jor sh 70

2 bortles of juice @ sh'70

What balunce did he receive if he paid for the items
using 4 sh 500 note?

A. sh 313.00

B. sh 283.50

C. sh 216.50

D. sh 146.50 i

Maria agreed W loan Luvisia sh 10000 ar &
cumpound intérest of 13% per spoum. How much
money altogether did Luvisia pay Mana after two-
yeurs?

A. sh 13225

B sh (3000

C. shil Sou

D sh 3228 4

A motorist covers 3-km in every 11 minates. How
many kilometres will he have uwmdﬁbnii?m
to 908 am?
A 28 :
B 84 -
C. 147

D. 2574
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15. The top of a 25 m lsdder leans oo a vertical wall
with jts lower end touching the ground. .
Which one of the following scts of wmeasurements

12. Three docks were set to ring at intervals as follows:
the firsi after every & mimdes

the second after every 15 minutes .
; ; the of the wall and the horizontal
the 1hird after every 24 mimiles W’;‘mw‘,” from: the wall?
Il the clocks were set at the same lime, after how A 12mand 13 m
many minules did they ring togethes? B 3manddim
A. 30 C.  Smand2m
B. 45 s D 7Tmasd2ém
G =l | '
D. 2160 16. Karungu boughl a radio oo hire purchase terms. He
paid a deposit of sh 900 and 9 equal monthly
13. Twenty-four S-decilitre packets of milk were emptied instalments of sh 300. 1'hehinpumhnepncewas
into a S0-litre container. - ! 20% more than the marked price. -
How many more such packets of milk werc needetd What was the marked price of the radio?
to fill the conwmer? A. sh 720 :
A. 100 B. sh 2830
B. 76 C. sh 3000
R v ‘ D. sh 3600
D. 38
17. The length of a rectangle is represented by the
14. The diagram below shows a plot of land made up of expression (2x+8) cm and its width by the
two somi-circles with same centre. The diameters of expression (x - 6) ¢m.

e Jyed sl e 2 neiron ang) SO H the perizmeteris 58 cm, what is the actual fength of

the rectangle?
A 3om
B. 9am
C. 26cm
D. &Slm

| 18, Chepioo was hired for 3 howrs 2 day from Monday
to Friday and § hours on Saturday. She was paid
sh 5850 per woek. Cheploo now works 10 hours
& day from Monday to Fridsy and is free on
Saturday. !

What is her weekly pay if she is paid at_the same
nteperhouruhufw

A. sh 4500

B. sh 5265

If pegs were put at intervals of two metres all the C. sh 5300

way round, how many pegs were used? D. sh 6500

2
(Take & = =) : l 19. wunuthwh-oleosmmwow
places?
A 26
B 26
C. 2625
D. 263
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Which one of the patterns below would complete the
design above?

A
B £ %
-"|,_. ,\"'-‘__1q __?u__
i 5 B
G147 5"
a0
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G
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21. A cyliader bas a volumc uf 550 caa'. If the height of
. the cylinder is 7 cm. what is its diameter?

: (Talal=¥)
A S0cm
B 25em

C 10em
D Sem
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A vendor kepl money in a box and in a tin. In the
box there were:

I3 ten-shilling coins

23 rwenty-shilling coins

36 five-shilling coins

In the tin there was an équal number of ten-shilling
and Gve-shilling coins aad ne twenty-shilling coin.
The total amount of meney i both, the box and tin,
was sh 1 000.

How many five-shilling coins were in the tin?

A. 14

B. 21

D. %
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i below shows part of two sides of
RST. Angle SRT=60°. Complete the

i

diagram to form triapgle RST such that RS =8 cm
and ST =9 cm. Construct the bisecic* of angle TRS
to moeet dide ST at V. ~

onk month an ageat sold § plols at sh 250 000.
a 5% commission for the sake of plots



26. Fundi, Halima and Gitonga are employed in a firm.
Fundi’s monthly salary is sh 50 more than that of
Gitonga. Halima's monthly salary is sh 90 more
than half of the total amount earned by Fundi and
Gitonga.

If Fundr's salary is sh n, which one of the
expressions below represents the total monthly
income of the three employees?

A. sh 3u+165

B. shdn-10

C. sh3n-30

D. sh3n+15

3

Which one of the ratios below represents 0-75?
3:40
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How many times is the value of the digit § more
than the value of digit 2 in the number 8§50 2657 -.

A 799 B0
B. 4000
C. 1 000
D. 4

. A factory produced 65 160 sweeis. The sweets were
packed in packets each holding 24 sweets. The cost
of each packet was sh 72, All the puckets were then
equally put in 15 cartons. What was the cost of the
sweets in each carton?
A. sh 131
B. sh 13032
C. sh 195480
D sh 312 768

P

. The length of one of the parallel sides of a trapezivm
is 6 cm and the perpendicular height is 4 cm. If the
area of the trapezium is 72 cm?, what is the length of
the other parailel sides?

A. 30em”
B. I64cm
C. [2cm
D. lcm

31. in u certain leap year, 16th Fobruury was
Wednesday, What day was Ist May thc same year?
A. Saturtay

B. Suﬂdaj‘

C. Monday .

D. Tuesday

-

. 32. What is the vaine of the expression
M_jvcn thatp=4 n=6, r=27
nr
Al
B. 21}
cC. 2
D 14

33. A family consumes 6 litres of milk every day. How
many litres altogether did the family conswpe in the
months of March, April and May?

A. 5401
B. 545/
L T
D. 558/
34, In the figure below PQ=QR=RS Ange

POR = 40°.,

g Q
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What is the size of angle QST?
A 145
B. 130°
c. e
D. 160°

v~

35. What i 899470 rounded off to the nearest ten
thousand?
A. 890000
B. 299000
C. 900000
D. S00470

13- 4xi
36. What ls the vatue of 1124741 5
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45. A motwrist eft town A at 8.15 am for town B, & | How maay cubes were

,mwormmmmmnmmmsu 4, .19
ogmmmdmpgmrofmmimmnm.m B 9
'lsjuu:dlﬂththe]oumey&rﬁvmginwﬂll C 12

; D. 14

B What was the é
A o wspaedlhrthowho&ew
B. 99 kowh
C. YWimh
D. 84 kma

A8, A sick of cubes i
: a3 shown theﬁgurebnbu
painted oa ail faces, : e
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47. The praph below represents the jourmey of a car
travelling from town S 0 town T.
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What was the average speed for the jowrney?
A 561 km/h

B. $7% kv

C. 65 kmh

D. 657 km/h

'GLOBALINK GRADE BOOSTER K.C.P.E PAST PAPERS
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The telegram charges were sh 13.50 for the first 10
words. Every additional word was charged sh 2.75.
The total amount was then reunded up to the
nearest fifly cemts, Otieno sent the following
telegram:

PAUL OCHIENG BOX 120 OYUGIS

GO VISIT ATIENO BOARDING SCHOOL
KISII THIRD OCTOBER

OTIENO PETER

How much did he pay for it?
A. sh 14.00

B. sh 16.50

C. sh 27.00

D. sh27.5¢

The bus fare from ome iow1 to another was
decreased by 20% and later iscro 724 by 20%. If the
original fare was sh, 50, what. i3 thi¢ pew farc?

A. sh 32

B. sh40

C. sh48

D. sh 50

A rectangular plot measures 64 m by 16 m. What
would be the length of the side of 2 square plot with
the same area?

A. 3Zm
B. 40 m
C. 512m

D. 1024 m
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